B -

j“-“ }(//v7-4-\1)(_v1+q‘) e

L] 1
Usodl enypn at

e L ' o
Bmuac

= 5 Rt-n ﬂ/@“—kw‘)f_f‘tﬁ} L v
) x==

z° £ low
- ‘§> /{_&‘4-*1‘\(.',2-1*‘!) 8L qi3mﬂ‘
c ! axf anh

- \ "‘-}-cclv avok
A T Vi shed oo

\ ol honedl gemicund

qjcjw.vu( haa f-olnq A

72 S XL

T3

{2

2= Z

-_—

-—

N _— a4 s -
@2-#{)(&1'!"{) (=% Lc/[}_—-f-t_}{t H_Itr3d

Z2*/
(2 -20)4G2) = //«?1'?—5)(24:?:_)(% -30)

T

= po -y, =
ety & 2= 2. — L'/(‘u)(sl')(-i«)": /S.’."‘::;'

Like wige for pste ad T=AL ad ‘q% N{y .y S =8 =
' VA




et~

lC(;._,v.. c/@_c,k/?a—(.a ’\Mmcg.g_aﬁ

| \)S-C- T""‘ l’-‘> o oA~ f‘)J'Q. ‘\IA-‘L'\' +-\C&“‘-1__ }\'“Q R‘*ﬁ*—x—gﬂﬁ——_

O _Lzl P
]l ]
| S /(__x"rq 106E+1)
X ousc
— '\'jﬁ\ é\‘(
T 2= v
%Mx PR
S dx C‘l—ifci-—q’—?'
[ = )x', s f )*""’Jz K"'&
| Twocse
P P - . ) Yiaik. |
= \)1 C"—_?_C ?_I"" |1 s . ) - P 3
- am 2 e e ~L bt 3
o™ Aot

| N 4;;: énv}u}wo\ w‘c%\& + covrech

‘ Jteco o©.) 0. 30hb 0.319159

N~ 4




Exv-3
#include <stdio.h>
#include <math.h>

int main()
\
int i,N;
double integral=0.0,dx,Xx;

printf(" \n Enter N,dx ");
scanf("%i %Lf",&N,&dx);

for (i=0;i<N;i++)

X=dx*1i;
integral = integral + x*x / ( ( x*x + 4.0 )*( x*x + 9.0) );

integral=integral*dx;

printf("\n integral is %12.81f \n",integral);
integral=integral+1l.0/ (N*dx);

printf("\n integral plus correction is %12.81f \n",integral);
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e+ 5-3

#include <stdio.h>
#include <math.h>

int main()

int i,N;
double integral=0.0,tpiN,theta,r;

printf(" \n Enter N,r ");
scanf("%i %Lf",&N,&r);

tpiN=8.0*atan(1.0)/N;
for (i=0;i<N/2;i++)

{
theta=tpiN*i;
integral = integral + 1.0 / ( 1.0 - 2.0*r*cos(theta) +r*r );

integral=integral*tpiN;
printf("\n integral is %12.81f \n",integral);



